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How to compute an index of institutional variation ? 
 Collect detailed information about procedures 
 Grade them according to procedural complications 
 Average across aspects 

 
Improvements with respect to previous (ordinal) versions ? 

 cardinality (country differences are meaningful) 
 possibility of cahnges over time 

 
Critiques: 

 law in books is different from law in practice 
 collective bargaining may improve labour standards 

 
Different dimensions of worker protection: 

 permanent workers 
  temporary workers 
  collective dismissals 

Most countries prefer to protect permanent workers than temporary ones (median voter ?) 



 



 



 



Most countries have followed the lead of OECD advocating increasing flexibilisation in the 90s, 
while now most of them are reverting their line of conduct. 
 
The flexibilisation at the margin (i.e. easier conditions for hiring/firing women and young people) 
creates the risk of a two-tier labour market. 
 

* * * 
 

Does EPL affect stocks (how many people are unemployed at a given point of time) or flows 
(people moving in/out of unemployment over a given interval of time) ? 
 
Old view: EPL increases stok of unemployed 
New view: EPL reduces flows in/out of unemployment 

 



 



How to study the relationship between two variables (for example =y unemployment and 
=x EPL) ? 

 
Simplest analysis: correlation.  
No indication about direction of causality. 
Possibility of spurious correlation 
 
Linear regression: ε+β+α= xy  where ε  is a white noise 
Type of samples: cross-country – time series – panel data 
 
Panel models exploit temporal and geographical variation 

ititit xy ε+β+α=  
where i  is the country and t  is the year. 
 
However the relationship could be affected by external country features which are irrelevant with 
respect to the unemployment (religion, ethnical conflict, etc) 
 
For this reason the relationship is allowed to have different intercepts but the same slope 

ititiit xy ε+β+α=  
where iα  is a country fixed effect. 



 



 



 



 



 





 


